
0-9kgs/0-19.8lbs

B
S=5mm

7

S=5mm

S=5mm

Use a 5mm hex wrench to adjust the damp for Tilt and Swivel. Turn 
counter-clockwise to reduce damping and clockwise to increase damping.

+

+

VESA Tilt Adjustment

VESA Swivel Adjustment

8

Insert cables into cable covers. 
Use cable clamp to limit cables close to steel pipe.

B

S=4mm
S=5mm

C

S=5mm
S=4mm

Use the cable clip to manage 
the wrenches when not used.

RMS-E51
Thank you for purchasing a Rosewill Monitor Desk Mount.

Please read the instruction manual before use and retain for future reference.

RMS-E51_A



5

Insert the monitor along with the VESA plate to the arm and lock it.

B
S=5mm

6

Use a 5mm hex wrench to adjust the height tension of the gas spring arm, 
to keep different weight of monitors still at any position.

NOTE: Turn clockwise to reduce 
tension for lighter monitors and 
counter-clockwise to increase 
tension for heavier monitors.

1 turn ≈ 1 lbs ≈ 0.4kg

01 06

B

B

S=4mm

M6x8
S=4mm 

Press down the 
arm to a horizontal 
position

S=5mm

mm/inch

300/11.8”

180/7.0”

0~60

±180°

±180°

33
5/

13
.2

”

90°

85°180°

100/3.9”
75/3”

100/3.9”
75/3”

360°

The desk clamp can support a maximum thickness of 8.5 cm. 
Confirm the desk edge before installation.



M4x12 (x4) M4x30 (x4) 12X5.8X16 (x4)

(x1)S=4mm (x1)S=5mm 

A

B

(x1)

(x1)

C

D

M6x8(x3)

M4x12
4

AFlush surface installation: Install 4 screws through 
faceplate to monitor via mounting holes.

For Flat Screen  Monitors

M4x30

12X5.8X16

A

A

Recessed surface installation: Put 4 spacers between 
faceplate and monitor. Install 4 screws through faceplate, 
spacers to monitor via mounting holes.

For Recessed/Curved Back Monitor

OR

NOTE: Hand tighten screws 
to avoid over tightening.

NOTE: Hand tighten screws 
to avoid over tightening.

TOP OF Monitor

TOP OF Monitor



①

①

②

②

③

③

④

S=4mm 

OR    Grommet Installation

Clamp Installation Steps

S=4mm

B

D

3

2

B

B

S=4mm

M6x8

Warning: be careful on the 
sudden springback of the
gas spring arm.

Tear off the cable tie and rebound carefully.

Insert the arms to the steel pipe above the locating ring.

S=4mm

Table clips are suitable for flat 
desktops, do not clip on slopes.


